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BES-010 : TEACHING OF ENVIRONMENTAL 
STUDIES 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Discuss the nature and scope of teaching 
'Environmental Studies' at primary stage 
considering the objectives of teaching 'EVS'. 

OR 

Discuss the 'integrated approach' and 
'disciplinary approach' for teaching the theme 
'water' at the primary stage. Which approach, 
do you think, facilitates meaningful learning at 
primary stage and why ? 

2. Answer the following question in about 
600 words : 

Explain the theory proposed by Lev.S. Vygotsky. 
Discuss the implications of his theory for 
dassroom teaching. 

OR 
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Discuss the various tools that teachers use to assess 
children's learning in 'Environmental Studies' at 
the primary stage. 

	

3. 	Answer any four of the following questions in 
about 150 words each : 
(a) Design two activities to develop the skill of 

observation among children at primary 
stage. 

(b) What are the advantages of using 'Role Play' 
method in teaching-learning at primary 
stage ? 

(c) Define 'Unit Plan' and 'Lesson Plan'. How 
does 'lesson planning' help teachers in their 
classroom teaching ? 

(d) How do you teach the concepts of 
'Environmental Studies' to classes I and II 
through language and mathematics 
subjects ? Give one example for each. 

(e) Why is 'thematic approach' adopted to 
teach 'Environmental Studies' at primary 
stage ? 

(f) How does 'Concept Mapping' method help 
teachers to elicit children's ideas and prior 
knowledge ? 

	

4. 	Answer the following question in about 
600 words : 
Select any topic from class-V EVS textbook and 
prepare a 'lesson plan' incorporating all the 
components of a lesson plan. 
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